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Gibbidf Jar (2-6) el

: dglie J> dcgoxo A9l
x*+4x+3<0

Jall

xX>+4x+3=0

x+3)(x+1)=0 » x=-3, x= -1

x+3>0 - x>-3 x+1>0 -x> -1

x+3<0 - x< -3 x+1<0 -x<-1

(x+3)

(x+1)

x+3)(x+1)

: dulde J> dcgozo 129l
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D dglie J> dcgazo A2l
—x2+5x-6>0
Jal
x> -5x+6<0
x> -5x+6=0

x—-3)(x—2)=0 » x=3, x= 2

x—2>0->x>2

XxX—2<0-x<2

(x—3)
(x—2)
(x—3)(x—2)

iuLu.od:d.Cg.o.zoD_9|
2x2—-3x—-5>0




G dea) /ALY dlac) & 11 @l ‘;_'atﬁ\ GA:\}S:S‘

: diglio J> decgozo gl

Jall

2x+6=0 -x=-3 bull kol

xX+2=0 - x= -2 plddl ool

2x+6>0 - x>-3 x+2>0->x>-2

2x+6<0 - x< -3 XxX+2<0 -ox<-2

(2x+ 6)

(x+2)

2x+6)(x+2)

 dglie J> acgozo A2l
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f(x) =49 —x?

9—-x2>0
x2-9<0 - x2-9=0

x+3)(x—3)=0 - x=-3, x=3

x+3>0 - x>-3 x—3>0 ->-x>3

x+3<0 - x<-3 x—3<0-x<3

(x+3)
(x —3)
x+3)(x—3)
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fx) = x°
f(=x) = (=x)°

= —x> = —f(x) 4o dl>

= —x = —f(x) @y db>

f(=x) = 2(~x)?

= 2x% = f(x) wuzgj dI>

fO) = (x+3)°

f(=x) = (~x +3)?
w3 Cratily d2g) Cuad Al
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s dladl JugSee Al

y=vx+2
x=.y+2
(0% =y +2)?

- ol GweSse 2l
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29l il el duuutii(3-4) ddeind

Wbl a>gl @i (x+2) e X3-3x%-6x+8  douud) duuS)yill downdll plaziwl
Jolg=ll

Jall

X2-5x+4 : douudll @il

X2-5x+4 = (x+1)(x+4) : Jolgsdl 8L

Bl a9l i (x+1) (de XP+hC+x-6  dawnd) &Syl doundl] plaziwl
Jolg=ll

Jall
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L delge go Jole (x+2) gl Cuil (SWI ay i plaziiwl

Jolg=ll (8L a>gl o3, X3>-3x°-6x+8

Jdall
F(x)= X3-3x%-6x+8

F(-2)= (-2)*-3(-2)°-6(-2)+8 =0
Jolge g0 Jole (x+2)

delgsdl (8L SV

X2-5x+4 : doundl] ili

X*-5x+4 = (x+1)(x+4) : Jolg=dl 8L

L delge go dole (x-3) ol Cuwdl (SWI @y b plaziuwl

Jolgsdl (8L a9l a3, X>+15x-9

delge o dole (x+4) gl Sl (SWI ayyai plaziiwly

Jolgsdl (8L a>gl o3, X*=5x°+4x+12
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agaall il pets widalae Jar(3-5) dud

: dleall J> dcgozo 20l
X3 +3x%=x+3
Jall
X3+3x°-x-3=0
X?(x+3) = (x+3) =0
(x+3) (¢ -1)=0
(x+3) (x -1)(x+1)=0

X+3=0, x-1=0 ,x+1=0

: dlall J> dcgazo A2l
X3+3x%-4x-12=0

Jall
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: dblall J> degozo a9l

14,42, 43,46 : Cylill 3=l Jolge
+1: Guiyl Jol=dl Jolge
1+, 42, 43,46 : quuudll jlao)l
F(x)= X3-7x+6
F(1)= 1°-7(1)+6=0

f(x) Jolge po(x-1)

X2 +X- 6 : dowdl Zili

X2 +X- 6= (X-2)(x+3) : Jolg=dl SU

: gl oVl plaziwl dslzell J> degazo a>g]

: aguuil] oVl plaziwl dslrell J> degazo 12g|

X3+3x%-x-3=0
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: dgudd |l ¥l plaziwl dilea]l > degozxo 2>l
X4-3x3+x%+3x-2=0

I 14,42, : culdl a2l Jolge

+1: Guiyl Jolsdl Jolge

14,42, : ] ooVl
Fo)= X*-3x3+x%2+3x-2
F()= 1%-3(1)3+(1)2+3(1)-2=0
f(x) Jolge po(x-1)
FC-1=(-1)*-3(-1)%+(-1)2+3(-1)-2=0

f(x) Jolge Go(x+1)

x:2-3x+2
x2—~1J -3+ +3x-2

—x + x?
T B +2xP+3x-2
+3x3 F3x
22
—2x°

x2-3x+2 : downdll il
x2-3x+2=0 ) (x-1)(x-2)=0

{1,-12}=¢z.p




